1. Give the value of c in the interval [0,3] that satisfies the conclusion of the mean value theorem for 


2. Use differentials to estimate the fourth root of 80. 
Hint: Do you know the fourth root of a number close to 80?

3. Use differentials to estimate sin(44o).
Hint: Do you know the sine of a number close to 44o? Make sure you convert to radian measure before you start your calculations!

4.  Use one iteration of Newton's method to approximate a solution to 
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starting from a guess of x = 7.

